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Q.1.Which one of the following is the only riverine major port in India?  

(a) Mormugao  

(b) Deendayal   

(c) Kolkata  

(d) Paradip 

Answer: c 

Explanation: Kolkata is an inland riverine port. This port serves a very large and rich 
hinterland of Ganga Brahmaputra basin. Being a tidal port, it requires constant dredging of 
Hoogly. Haldia port was developed as a subsidiary port, in order to relieve growing pressure on 
the Kolkata port. 

 

Source:10th NCERT chapter no 07 

 

Q.2.Which one of the following is not a desert river?   

 (a) Barak 

(b) Rupen   

(c) Banas 

(d) Machchhu 

https://t.me/joinchat/TJwR61VUJ1C-phOP
http://www.missioncapfhub.com/
missioncapfhub@gmail.com


MISSION CAPFHUB 

BY SWAPNIL WALUNJ & TEAM 

Telegram @MISSIONCAPFHUB |  www.missioncapfhub.com | missioncapfhub@gmail.com Page 2 
 

Answer: a 

Explanation: All other three are Desert Rivers. The Barak is an important river in Manipur 
and Mizoram. While two rivers of Mizoram and Manipur are the tributaries of the Barak river, 
which in turn is the tributary of Meghna; the rivers in the eastern part of Manipur are the 
tributaries of Chindwin, which in turn is a tributary of the Irrawady of Myanmar. 

Source: NCERT XIth India physical environment Chapter No 02 page no 15 

 

Q.3.The heaviest rocks, which are rolled along the river bed in river transport, come under which 
type of load?  

(a) Solution load  

(b) Suspension load class. 

(c) Saltation load  

(d) Traction load 

Answer: d  

Explanation: Traction load this includes coarser materials such as pebbles, stones, rocks and 
boulders, which are rolled along the river bed. 

Source: G C Leong Chapter no 5 page no 39 

 

Q.4.Which of the following factors are needed for the growth of corals?  

1. Freshwater  

2. Clear shallow salt water  

3. Plenty of sunlight for photo-synthesis 

4. Warm water between 23 °C and 25 °C  

Select the correct answer using the code given below. 

(a) 1, 3 and 4 only  

(b) 2, 3 and 4 only 

(c) 1 and 2 only  
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(a) 1 only 

(b) 2 only 

(c) Both 1 and 2 

(d) Neither 1 nor 2 

Answer- C 

Explanation:-As statement 1 has completely correct because congress socialist party 
established in 1934 by Jayaprakash Narayan and Narendra dev 

Statement 2 

 

Reference: class 12thNcert, Themes in Indian History Part-III  PAGE 367 

 

7. Initially, what was the purpose of setting up of hill stations during the colonial period in 
India? 

(a) To serve as winter capitals for the British 

(b) To serve the needs of the British Army 

 (c) To source timber from forests 

(d) To set up sanatoria 

Answer- B 
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Explanation-  As you can see in the image below, the question has been directly asked from 
NCERT and the word initially is also used so the answer is B.  

 

Reference: Themes in Indian history part -3, Page no. 327 

 

8. Who among the following founded the Dharma Sabha? 

(a) Krishna Mohan Banerjee 

(b) Keshab Chandra Sen 

(c) Radha Kant deb 

(d)Akshay Kuamrdatta 

Answer- C 

Explanation-   

 

Reference- Spectrum Page no. 224 
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So 22nd February, 15 February, 8 February and 1 February will be Monday.  

 

Q.31 Which among the following statements is not correct? 

(a) When the economy grows slowly the than its potential, unemployment rate rises. 

(b) Structural employment occurs when jobs are eliminated by changes in demand for particular 
goods or due to automation. 

(c) Recession in the economy leads to cyclical unemployment. 

(d) At full employment, the measured unemployment rate is negative. 

Answer - d 

Statement 1 is correct.- Reduction in economic growth rate contributes to unemployment. 

Statement 2 is also correct - The causes of structural unemployment can include shifts in the 
economy, improvements in technology, and workers lacking job skills that are required for them 
to find employment. 

Statement 3 is correct - Cyclical unemployment is directly related to the macro-economic 
situation in the economy. It would rise at a time of recession, while reduce when the economy 
starts recovering. 

Statement 4 - 1 2 3 are correct, so by elimination 4 is not correct. 

Full employment equilibrium refers to the situation where aggregate demand = aggregate supply 
and all those who are able to work and willing to work (at the existing wage rate) are getting 
work. 

Reference; https://www.investopedia.com/terms/f/fullemployment.asp 

 
Q. 32 The amount by which the equilibrium level of real GDP exceeds the full employment level 
of GDP is called 
 
(a ) Recessionary gap 
 
(b) Inflationary gap 
 
(c ) Income multiplier 
 
(d ) Automatic stabilizer 
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Q.36.Which one of the following is not a type of chemical weathering?  

(a) Carbonation solution  

(b) Salt crystal growth 

(c) Hydrolysis  

(d) Oxidation 

Answer: b 

Explanation: Physical or mechanical weathering processes depend on some applied forces. The 
forces could be: (i) gravitational forces such as overburden pressure, load and shearing stress; (ii) 
expansion forces due to temperature changes, crystal growth or animal activity; (iii) water 
pressures controlled by wetting and drying cycles 

Source: 11th Fundamentals of physical geography chapter no 06  

 

Q.37.Match correct answer using below the Lists with List-II  

 List 1    List 2 

(Country/ Continent)   (Fold Mountain)  

A. Ural   1. South America  

B. Appalachians   2 .South Africa  

C. Drakensberg             3.Russia    

D. Andes    4.North America     

Code: 

     A B C  D 

(a)3 2 4 1 

(b) 3 4 2 1 
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(c)1  4  2 3 

(d)1 2 4 3 

Answer: b 

Explantion: Ural- Russia, Appalachians- North America, Drakensberg- South Africa, Andes- 
South America. 

Source - Physical map of world. 

 

Q.38.Which of the following main types of iron ores are found in India?  

1. Hematite  

2. Magnetite  

3. Limonite  

4. Siderite 

Select the correct answer using the code given below. 

(a) 1 and 2 only  

(b) 2 and 4 only  

(c) 1,2 and 4  

(d) 1 and 3 

Answer: a 

Explanation: Hematite and magnetite are the most important iron ores in India. About 59% 
hematite ore deposits are found in the Eastern Sector. About 92% magnetite ore deposits occur 
in Southern Sector, especially in Karnataka. Of these, hematite is considered to be superior 
because of its higher grade. 

India is endowed with fairly abundant resources of iron ore. India is rich in good quality iron 
ores. Magnetite is the finest iron ore with a very high content of iron up to 70 per cent. It has 
excellent magnetic qualities, especially valuable in the electrical industry. Hematite ore is the 
most important industrial iron ore in terms of the quantity used, but has a slightly lower iron 
content than magnetite. (50-60 per cent).  

Source: 10th NCERT chapter no 05 page no 50 
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Explanation- Prince Khusrau revolted against Jahangir. Khausraureceieved blessing of Guru 
Arjan Dev, 5thsikh Guru. But Khusrau was arrested and blinded. Later was put on death. Hence 
statement 1 is correct. 

Statement 2 is incorrect- It is unclear when the Masand system started. It began with Guru Amar 
Das in some accounts, by Guru Ram Das in other accounts, or Guru Arjan by still other accounts. 
A Masand was appointed for each religious administrative unit called the Sikh Manji, a system 
that was founded by Guru Amar Das. 

 

41. Qutb Minar was originally four storied . who among the following delhi sultans raised the 
highest to the structure by adding the fifth storey? 

(a) Balban 
 

(b) AlauddinKhalji 
 

(c) Muhammad Tughlaq 
 

(d) Firoz Shah Tughlaq 
 

Answer- D 

Explanation-   

 

Reference- 7th NCERT, Our Past-II Page No 36 
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42. Which one of the following pairs of Deccan Sulanates and their respective regions is not 
correctly matched? 

(a) Nizam Shahis: Bijapur 

(b) Baris Shahis: Bidar 

(c) Qutb Shahis: Golkonda 

(d) Imad Shahis: Berar 

Answer- A  

Explanation-  

 

Reference- NIOS notes for ancient History, Page No 182 

43. Consider the following statements:  

1. Under Akbar, The system of Zabt was established over a large area from Punjab to Awadh. 

2. In the seventeenth century North India, the system of Zabt lost much ground to the system of 
Kankut. 

Which of the statements given above is/are correct? 

(a) 1 only 

(b) 2 only 

(c) Both 1 and 2 

(d) Neither 1 nor 2 

Answer- C 

Explanation:-System of Kankut was traditional one, during 17th century when peasant revolt 
against Zabt system it gain ground again on side of Zabt System. 
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52. What is the approximate wavelength of violet light in air? 

(a) 0-7 um 

(b) 0-6 um 

(c) 0-5 um 

(d) 0-4 um 

Answer: - D 

 

Reference: - class 12th Physics NCERT Book chapter 8 page no.  280 

 

53. Which electromagnetic radiation(s) is/are used to cook food? 

(a) Infrared radiation only 

(b) Microwave radiation only 

(c) Infrared and microwave radiations  

(d) All electromagnetic radiations  
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Answer: - c 

Although IR is not in widespread use for cooking.  It cannot be denied that infrared radiation is 
not used for cooking purposes. Ex. Solar Cooker. 

Reference: -class 12th Physics NCERT Book chapter 8 page no.  281 

 

 

54. An object is placed 10 cm in-front of a lens. The image formed is real and inverted and of 
same size as of object. What is the focal length and nature of the lens? 

a) 5cm, converging 

b) 10cm, diverging 

c) 20 cm, converging 

d) 20cm, diverging  
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Answer: - A 

Solution: - Convex lens is converging and only in cases of convex lens real and inverted image 
could be formed as well as same size image is formed when object is placed at center of lens.c= 
2fso object is placed at c =10 cm and focal length is half of center so f=5 cm and converging 

Reference: - class 10th NCERT Book chapter 10 page no. 163,176,178 179 

 

55. Which one of the following statements with regard to a short-sighted person is correct? 

(a) A short-sighted person sees the near objects blurred but distant objects clearly and a convex 
lens is used to correct this defect. 

(b) A short-sighted person sees the near objects clearly but distant objects blurred and a 
concave lens is used to correct this defect 

(c) A short-sighted person sees the near objects blurred but distant objects clearly and a concave 
lens 18 used to correct this defect. 

(d) A short-sighted person sees the near objects clearly but distant oDjects 18 blurred and a 
convex lens used to correct this defect 

Answer :- B 
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Solution:- Person with short sighted eye can see near objects clearly, the error is also known as 
myopia and could be corrected using concave lens. 

Reference:-Cbse class 10th NCERT Book chapter 11 page no. 189 

 

 

56. Which one of the following organelles not found in animal cells? 

(a) Cell membrane 

(b) Endoplasmic reticulum 

(c) Cell wall 

(d) Lysosome 

Answer:- C  

 

Solution: - cell wall is not found in animal cell (Very repeated question) 

Reference :-Cbse class 9th NCERT Book chapter 5 page no. 61 
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57. Which one of the following plant tissues has large air spaces? 

(a) Sclerenchyma 

 (b) Meristem 

(c) Collenchyma 

(d) Aerenchyma 

Answer :- D 

 

solution :- In aquatic plants large air cavities are found in parenchyma to give them buoyancy to 
plants to help them float, this is called aerenchyma 

Reference:-Cbse class 9th NCERT Book chapter 6 page no. 70 

 

58. Which one of the following is not a connective tissue? 

(a) Ligament 

b) Tendon 

c) Smooth muscle 

d) Cartilage 

Answer: - C 
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Solution: - tendons connects muscles to bones  

Cartilage connects smoothens and connects bones surfaces 

Ligaments connects 2 bones  

Smooth muscles create network of them but are not connective in nature 

Refrence :-Cbse class 9th NCERT Book chapter 6 page no. 76 

 

 

59. Which one of the following organisms belongs to the kingdom Monera? 

(a) Diatom 

b) Euglena 

c) Anabaena 

d) Ulothrix 

Answer: - C 

Refrence :-Cbse class 9th NCERT Book chapter 7 page no. 83 
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60. Which one of the following diseases es not transmit through fine droplets coming out from 
mouth or nose of an infected person? 

(a) Pneumonia 

(b) COVID-19 

c) HIV-AIDS 

(d) Tuberculosis 
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Answer :-  C 

Refrence :-Cbse class 9th NCERT Book chapter 13 page no. 183 

 

61. Which one of the following is not a breakdown product of glucose during Respiration? 

(a) Ethanol 

(b) Lactic acid 

c) Water 

(d) Methanol 

Answer :- D 
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Solution:- ethanol is released by yeast in absence of oxygen  lactic acid is released by human 
body during anaerobic respiration  water is released during aerobic respiration  methanol is not 
released during respiration  

Reference:-Cbse class 10th NCERT Book chapter 6 page no. 102 

 

62. Which one of the following is an example of endothermic reaction? 

(a)CaO(s) + H,O) -> Ca(OH)2 laq9 

(b) CaC0,(s) » Ca0(s) + CO2 

(c) C(s) +02(g) > cO,(g) 

(d) CHg)+202(g) -CO,(g) +2H,00) 

Answer :-  B 
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Solution :- except B every other reaction is combination reaction and  most of the combination 
reaction releases energy that is they are exothermic calcium carbonate requires energy or heat to 
split into calcium oxide and carbon dioxide 

Reference:-Cbse class 10 th NCERT Book chapter 1 page no. 6,7,8 

 

63. Packets of potato chips are usually flushed with which one of the following gases to prevent 
rancidity? 

(a) Carbon dioxide 

(b) Hydrogen 

c) Nitrogen 

c) Nitrogen 

(d) Oxygen 

Answer: - C 

 

Solution: - to prevent packaged edibles from rancidity they are flushed with nitrogen 

Reference:-Cbse class 10th NCERT Book chapter 1 page no. 13 

 

64. According to early Indian philosophers, what are the basic elements described in Pancha 
Tattva ? 

a) Earth, Fire, Sky, Gas and Water 

b) Air, Earth, Fire, Sky and Water 
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(c)Gas, Land, Fire, Sky and Water 

(d) Air, Earth, Fire, Land and Water 

Answer :- B 

 

Reference :- Indirect reference could be taken from NCERT Class 9th Chapter 1 page no. 1,2 

 

65. A milkman adds a small amount of baking soda to milk. This makes the pH of the milk 

a) Strongly alkaline 

b) Weekly alkaline 

(c)Strongly acidic 

(d) Weekly acidic 

Answer :- B  

Solution :- Ph of milk is 6-6.5 , adding baking soda to it hich in itself is moderate alkali makes 
milk a weak alkali 

Reference :-Cbse class 10th NCERT Book chapter 26,27,30 

 

66. Which one of the following metal oxides does not usually react with sodium hydroxide? 

(a) Copper oxide 

(b) Aluminum oxide 

(c) Potassium oxide 
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(d) Calcium oxide 

Answer :- A 

Solution :- Copper oxide is non-reactive at normal temperature it requires extra energy or hot 
water or hot temperature to react. elements low in reactivity series does not react easily at normal 
temperature 

Reference:-Cbse class 10th NCERT Book chapter 3 page no. 43,45 

 

67. When calcium metal reacts with sulphuric acid, the reaction stops after 

a short while. Why? 

(a) The reaction of calcium with sulphuric acid is not feasible atroom temperature 

(b) Formed calcium sulphate is insoluble in water and covers thecalcium metal, preventing 
it from reacting any further 

(c) Formed calcium sulphate requires two molecules of water to crystallizeas gypsum 

(d) Formed calcium sulphate is unstable 

Answer:-B 

Solution:- calcium sulphate is insoluble and hard substance used in cement industry as well so if 
it will not dissolve in water it will not react with after or any other substance as well 

Refrence :-Cbse class 10th NCERT Book chapter 2 page no. 32,33 

 

68. When a white light beam is made to fall on a hollow prism filled with water, it breaks into 
seven constituent colours. Which of the following colours suffers maximum angle of deviation? 

(a) Red 

(b) Violet 

(c) Green 

(d) All suffer by equal amount of deviation 

Answer: - B 
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Solution :- Red light deviates the least and violet light deviates the most 

Reference :-Cbse class 10th NCERT Book chapter 11  page no. 193 

 

69. The following figure shows the image of a clock in a plane mirror: 

 

Which one of the following is the correct time? 

(a) 2:35 
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Q. 72. Which one among the following is not a renewable energy source? 

(a) Solar 

(b) Wind 

(c) Nuclear 

(d) Hydroelectric 

Answer: c 

Reference: - Cbse class 10th NCERT Book chapter 14  page no.  245, 247, 249, 251 

 

73. Which one of the following is not a function of chlorophyll? 

(a) Splitting of water 

(b) Absorption of photon 

(c) Oxidation of carbohydrate 

(d) Conversion of light energy into chemical energy 

Answer :- C 
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Solution:- Chlorophyll takes in light (photons) it splits water into hydrogen and oxygen  It 
converts light energy into chemical energy so as to facilitate photosynthesis  it does not oxidize 
carbohydrate 

Reference :-Cbse class 10th NCERT Book chapter  page no. 96 

 

74. Which one of the following statements about life processes in single-celled organisms is not 
correct? 

a) They require separate organ for food uptake. 

(b) Separate organ is not needed for respiration. 

(c) Waste of excretory material is produced by these organisms. 

(d) They remain in contact with external environment. 

Answer :- A  

Solution: - They do not have separate organ or any process They only posses one cell for every 
process Refrence :-Cbse class 10th NCERT Book chapter  6 page no. 98 

 

75. Which one of the following organisms does not possess notochord at any stage of its life 
cycle? 

(a) Holothuria 

(b) Herdmania 

(c) Exocoetus 

(d) Salamander 

Answer: - a                         Ref: 9th SCIENCE NCERT pg. 91 &95. 

Solution: - a) Holothuria -ECHINODERMATA (NON-CHORDATE) 

b) Herdmania- PROTOCHORDATA(CHORDATE) c) Exocoetus- PISCES(FISH-CHORDATE) 

d) Salamander-AMPHIBIAN(CHORDATE) 

Only NON-CHORDATE (i.e not having Noto chord is HOLOTHURIA, which belongs to 
ECHINODERMATA, NON-CHORDATA). 
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(c) 100 

(d) 120 

Answer- d 

Letter formed= 5! = 1*2*3*4*5= 120 

 

Q.81.  The widespread deaths due to starvation and epidemics are the characteristics of 

(a) Famine 

(b) Poverty 

(c) Civil war 

(d) Malnutrition 

Answer - a 

Reference; NCERT Economics Class 9th Chapter 4 Page No. 42 & 43 

A Famine is characterized by wide spread deaths due to starvation and  epidemics caused by 
forced use of contaminated water or decaying food and loss of body resistance due to weakening 
from starvation. The most devastating famine that occurred in India was the FAMINE OF 
BENGAL in 1943. This famine killed thirty lakh people in the province of Bengal. 

 

Q.82. The price declared by the Government every year before the sowing season 

to provide incentives to the farmers is called 

(a) Buffer price 

(b) Issue price 

(c) Minimum support price 

(d) Fair sustenance price 

Answer - c 

Reference; Class 9th Economics NCERT Chapter 4 Page No. 47,  
https://vikaspedia.in/agriculture/market-information/minimum-support-price 
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Minimum Support Price (MSP) is a form of market intervention by the Government of India to 
insure agricultural producers against any sharp fall in farm prices. The minimum support prices 
are announced by the Government of India at the beginning of the sowing season for certain 
crops on the basis of the recommendations of the Commission for Agricultural Costs and Prices 
(CACP). 

 

Q.83.Caves, arches, stacks and the stumps are landscape features of which one of  the following?  

(a) River  

(b) Wave  

(c) Limestone  

(d) Wind 

Answer: b 

Explanation:  

 
Wave-cut cliffs and terraces are two forms usually found where erosion is the dominant shore 
process. Almost all sea cliffs are steep and may range from a few m to 30 m or even more.. Such 
platforms occurring at elevations above the average height of waves is called a wave cut terrace. 
The lashing of waves against the base of the cliff and the rock debris that gets smashed against 
the cliff along with lashing waves create hollows and these hollows get widened and deepened to 
form sea caves. The roofs of caves collapse and the sea cliffs recede further inland. Retreat of the 
cliff may leave some remnants of rock standing isolated as small islands just off the shore. Such 
resistant masses of rock, originally parts of a cliff or hill are called sea stacks.  

Source:11Th NCERT Fundamentals of Physical geography chapter no 07 page no 70 
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Q.84.Which of the following statements about tropical rain forests are correct? 

1 The soils of tropical rain forests quite infertile.  

2. The vegetation is evergreen, enabling photosynthesis to take place year around. 

3. They have been described as deserts covered by trees 

4. They are most productive land based ecosystem. 

Select the correct answer using the code given below.  

( a) 2 and 4 only  

(b) 1,3 and 4 only  

(c) 1, 2 and 3 only  

(d) 1, 2, 3 and 4 

Answer: D 

Explanation:  They can be called as deserts covered by tree because it is very difficult for 
commercial exploitation of trees. Heavy rainfall makes soil infertile and more importantly 
tropical climate is inhospitable like deserts. 

Source: 7th NCERT chapter no 05 page no 44/ GC Leong  

 

Q.85.In which one of the following soils, salt content is so high that common salt is obtained by 
evaporating the saline water in some areas?  

(a) Peaty soil  

(b) Alluvial soil 

(c) Laterite soil 

(d) Arid soil 

Answer: d 

Explanation: Arid soils range from red to brown in colour. They are generally sandy in structure 
and saline in nature. In some areas, the salt content is so high that common salt is obtained by 
evaporating the saline water. 

Source: 11th NCERT India physical environment Chapter no 06 page no 71 
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86. Which of the following statements about Akbar are correct? 

1. In 1560s, Akbar had the fort of Agra Constructed. 

2. In 1570s, Akbar decided to build a new capital at Fatehpur Sikri. 

3. Akbar also commissioned a white marble tomb of Shaikh Salim Chishti at Sikri. 

4. In 1585, Akbar decided to shift the capital back to Agra. 

Select the correct answer using the code given below: 

(a) 1,2and 4 

(b) 1,2 and 3 

(c) 2,3 and 4 

(d) 3 and 4 

Answer-B.  Explanation - In 1585 Akbar shift its Capital to Lahore (Not Agra) to bring 
north-west under greater control.. Hence statement 4 is incorrect.  

 

Reference- Themes in Indian history part 2, page no. 236.  
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87.  Which of the following statement about Amar nayakas of Vijayanagar are Correct? 

1. The Amar nayakas were military Commanders who were given territories to govern by the 
Raya. 

2. In lieu of their Service and also to maintain their contingents, they paid in cash. 

3. They maintained stipulated contingents and elephants. 

4. They used to send tribute to the king annually and personally appeared in the royal court with 
gifts to express their loyalty. 

Select the correct answer using the code given Below: 

(a) 1,2 and 3 only 

(b) 1,3 and 4 only 

(c) 2 and 4 only 

(d)  1,2,3,4  

Answer- B 

Explanation- there is no system to paid salary to Amar nayakas in cash. Hence Statement 2 is 
incorrect. 

 

Reference- 12th NCERT, THEMES OF INDIAN HISTORY PART II, PAGE 175 
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88. Which of the following pairs is/ are correct matched? 

1. Permanent system: Lord Cornwallis 

2. Ryotwari Settlement: Thomas Munro 

3. Mahalwari Settlement: Holt Mackenzie 

Select the correct answer using the code given Below: 

(a) 1 only 

(b)  1 and 2 only 

(c) 2 and 3 only  

(d)  1,2 and 3  

Answer- D 

Explanation- All statement are correct 

Reference- 8th NCERT Our Past III/ also covered in 12th Themes in Indian History Part 3. 
Chapter 3 Ruling the country Side. 

 

89.  Who among the following assumed the title of Nizam-ulMulkAsaf Jah to set himself as an 
independent ruler with his base in Hyderabad? 

(a) Kartalab Khan 

(b) Bahadur Shah 

(c) Alivardi Khan 

(d) Chin Qilich Khan 

Answer- D 

Explanation- Another name is Chin Qilich Khan 

https://t.me/joinchat/TJwR61VUJ1C-phOP
http://www.missioncapfhub.com/
missioncapfhub@gmail.com


https://t.me/joinchat/TJwR61VUJ1C-phOP
http://www.missioncapfhub.com/
missioncapfhub@gmail.com


https://t.me/joinchat/TJwR61VUJ1C-phOP
http://www.missioncapfhub.com/
missioncapfhub@gmail.com


MISSION CAPFHUB 

BY SWAPNIL WALUNJ & TEAM 

Telegram @MISSIONCAPFHUB |  www.missioncapfhub.com | missioncapfhub@gmail.com Page 61 
 

 

 

93. Which one of the following powers has not been conferred on the President of India?  

a) Appointment of Prime Minister 

b) To decide at his/her discretion any question regarding disqualification of a Member of 
the Parliament 

c) To grant pardon to a person who has been punished by a court martial. 

(d) To remove a Judge of the High Court 

 Answer; B 

Source; Laxmikant Chapter on President. 

Legislative Powers of President 

 He decides on questions as to disqualifications of members of the Parliament, in consultation 
with the Election Commission.  It is the role of election commission to advise the president on 
matters relating to the disqualifications of the members of Parliament. So, it is not his/her 
discretion to disqualify any member on his own. 

 

Q.94. Which one of the following statements with regard to Maneka Gandhi vs. Union of India 
case, 1978 is not correct? 

A) It was held that Article 19 and Article 21 are not watertight compartments.  

B) It was held that law coming under article 21 may not satisfy the requirements of article 19.  

C) A fair trial eliminates the biases against the accused in the trial. 

D) The right to life under article 21 does not include the right to die. 

Answer; D 
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Prior to Aruna Shanbaug's case, the Supreme Court had formulated an opinion on legality of 
suicide in Gian Kaur v. State of Punjab (1996) in which it had held that the right to life under 
Article 21 does not include the right to die. In that case, the court had cited the UK decision of 
Airedale N.H.S. 

But later in Aruna Ramchandra Shanbaug v. Union of India the Supreme Court held that passive 
euthanasia can be allowed under exceptional circumstances under the strict monitoring of the 
Court. 

 

95) A shopkeeper gives two consecutive discounts of 10% and 5% respectively on his items. He 
then adds 20% GST on his items. If an item has marked price Rs. 2,000, how much more or less 
of the actual price of the item a customer has to pay?  

(a) 2.6% less 

(b) 2 .6% more 

(c) Same price 

(d) 5.2% more 

Answer- b 

Marked price=2000 

First discount of 10%, then cost= 1800 

Second discount of 5%, then cost = 1710 

Then GST of 20%, cost= 2052 

Here marked price= 2000 and customer paid 2052 

So customer paid extra 52 i.e. (52/2000)*100= 2.6% 

 

96. The difference of compound interest and simple interest of a sum of money at the rate of 5% 
per year for 2 years is250. Then the sum is  

(a)  1, 00,000 

(b) 80,000 

(a) 40,000 
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(d) 1, 20,000 

Answer-a 

 

 

97. How much water is to be added to 75 mlof alcohol so that the mixture contains25% of 
alcohol? 

(a) 100 ml 

(b) 225 ml 

(c) 250 ml 

(d) 125 ml 
 Answer- b 

Here, 25% is alcohol and 75% is water. So, 75ml equivalent to 25% , then 75% of water 
equivalent to  

(75*75)*25= 225ml 

 

98. If 35% of a number is 416 ,more thanthe 27% of the same  number, then the number is  

(a) 5200 

(b) 2600 

(c) 3900 
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(d) 3328 
 Answer-a 

Let the number be x, 35% of x= 416+ 27%of x 

X=5200 

 

Q.99.In India, Cardamom Hills are regarded as a continuation of the 

(a) Eastern Ghats  

(b) Mizo Hills  

(c)Naga Hills  

(d) Western Ghats 

Answer: d 

Explanation: This is bordered by the Western Ghats in the west, Eastern Ghats in the east and 
the Satpura, Maikal range and Mahadeo hills in the north. Western Ghats are locally known by 
different names such as Sahyadri in Maharashtra, Nilgiri hills in Karnataka and Tamil Nadu and 
Anaimalai hills and Cardamom hills in Kerala. Western Ghats are comparatively higher in 
elevation and more continuous than the Eastern Ghats. Their average elevation is about 1,500 m 
with the height increasing from north to south. 

Source:11t hIndia physical environment chapter 02 page no 17 
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Q.100.Match List-I with List-II and select the correct answer using the code given below the List 

List-I (River)    (Tributary 1) 

A.Sutlej   1.Yamuna 

B.Kosi   2.Brahmaputra   

C.Teesta   3.Ganga 

D.Chanmbal  4. Indus  

Code: 

     A B C  D 

(a) 1 3 2 4 

(b) 1 2 3 4 

(c) 4 3  2 1 

(d) 4 2 3 1 

Answer: c  Explanation: Sutlej- Indus, Kosi- Ganga, Teesta- Brahmaputra, Chanmbal- Yamuna. 

Source: Physical Map of India 

101.  Which one of the following pairs is notcorrectly matched? 

(a) Positively phototropic: Shoot 

(b) Positively geotropic ; Root  

(c) Chemotropic : Pollen Tube 

(d) Hydrotropic: Flower 
 

Answer :- D 
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